The ZoflA] y — %x—k 3 7} x AHo] ZHe 429

O x-y=6 @ y=x+6 ® 2x+y=12

1
@yzix—l—l ® y=x+3



y AHL2?

)

o

1

y=2x+a+5% x AHo| -4 ¢

@7 ® 8 @ 9 ® 10

@ 6



1



S y = 2x+2 o) TABI A G ARHL?
@ Al 1AHEH @ A 2AHEH @ A 3AHEH

@ Al 4AHEH ® it



DAL y = ax + b 0] T LI} A 1AHEES 27| e
Gy =bx—aQ THZO mFO B AT HL9 (Fa %
)
@ @
L Y
[6) z
ol z
® @
Y Y
T
) z
®
L
0O z



Da=1,b=-4

@ a=-4,b=1

A2} y = —ax—39] 1B X7} (3b+1, —2b)
bE AU vhEA BA S AL

@ a=-1,b=14 @ a=4, b=-1
®a=1b=-1



0.6 206 0006 ®6e6e 00,6



dF - === === = = = -

yl\

20| 2

1—1} =

=23

@ 6 ® 8 @ 10 ® 12

D 4



oS AAgE 5 7 Azt x kol 71
Tzt opd A2

D y=-x @ y=-2x+4
L 2
@y=—§x+3 ®y=-x4+2

3

4% ytol Faste
® y=-3x+2



10. e % ARy — ax+ b (S, b # 0) 9] Tefue] et 4 3
go e
6 8L v
© 4 (-2 0) & Adn
© a<0 o7 THmE 9% o7 it
® A4y = by +a o BT
® LAy = —ax 9 y F oA whTh

0.6 206 006 ®o6e 06,6



ol
S
ol

offg

RS

D
|
=
<f
Il
-
©
— |
0| |
I =
= <
<t |
Il Il
N EN
Q ©
I ™
+ I
= =
< <
Il I
N N
@ ©



o, o] ez e] 7|77

$AA x+ by +c =09 2N xZHo] —4, yHHO] 2

o]
=






® yd#HLE p—ko|tt.

oA Hofiirt.

=
=

@ a®] AYgko] 245 x

® A (La-b-k)E Adrt.



15.

APt y=-2x-4, x=3TyH L y=3

=302 Z3#A =9
HolEmolgtn @ o, At y=ax+6 T x 5, y FO2 =9
A1 g o] yol JAl m o] E 4= = FFa 9 FH2?

) )

| =
(S IR



